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using System; /’/,,/’/”””* PRI PR

using System.Text;

el slad
namespace MyAppName ////’///////////*

class Program////”///////////*

static void Main(string[] args) / &U 4
{

Console.WriteLine(“Welcome to C# Programming!");
} \
}
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using System;
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* System.Console.WriteLine(“Welcome to C# Programming!");
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using System.Text;

)13 o)Ll NET System ob (slad 4 iued pb (slad ¢ply 3,15 pU 100t ob (sLas « global pb (slas °

namespace MyAppName

{
class Program
{
global::System.Console.WriteLine("Hello!");
¥
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static void Main(string[] args)

{
Console.WriteLine(“Welcome to C# Programming!");
}
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DATA TYPES
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byte 8-bit unsigned integer 0 to 255
sbyte 8-bit signed integer -128 to 127
short 16-bit signed integer -32,768 to 32,767
ushort 16-bit unsigned integer 0 to 65,535
-2,147,483,648
int 32-bit signed integer to
2,147,483,647
uint 32-bit unsigned integer 0to 4,294,967,295 u
-9,223,372,036,854,775,808
long 64-bit signed integer to

9,223,372,036,854,775,807
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float

double

decimal

char

bool

64-bit unsigned integer

32-bit Single-precision floating point type
(7 digits of precision)

64-bit double-precision floating point type
(15-16 digits of precision)

128-bit decimal type for financial and
monetary calculations
(28-29 digits of precision)

16-bit single Unicode character

8-bit logical true/false value

0 to 18,446,744,073,709,551,615

-3.402823e38 to 3.402823e38 f
-1.79769313486232e308 to q
1.79769313486232e308
(+ or-)1.0 x 10e-28
to m

7.9 x10e28

Any valid character, e.g. a,*, \x0058
(hex), or\u0058 (Unicode)

True or False
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bool 8-bit logical true/false value True or False
object Base type of all other types.
string A sequence of Unicode characters

0:00:00am 1/1/01

DateTime Represents date and time to
11:59:59pm 12/31/9999

A" 13l 35,555 1B 03lw (i oS S U5 30l L SIS L5 9b s a3liwl (UNicode) sSiiss sla SIS 2 053 sl o Char g9
Sl SL1> 45 oladsl jo ) jiiey 9 35S 8,33 395 3 1) (false) cow5b L (true)acu s pslis slgs oo ki bool g4
3).3...4))9 o5 latwl )90 ¢ dddamd L;).S'o.mm

i 98 Jals S 13 30l i) S5 3 b 0 pu3 slie 59 g0 03kl pliy Sy siile b SIS I 29,8 5 s> (sl SIFiNG £45 ¢
\f "Message” :3ibo (3igih 4d,8 b o 4l ) S Olgic 4 JlelS huwgi U 35 8 1,8




10

Peiio 95 yuiia pU

Variable Type

Variable Type
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Variable Name; int A;

Variable Name= Initial value;

int A=5;
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int X = 7;
char chr = "W';

string str

= "Masoud”;

int X; string str;

X =5; str = "Masoud”;
int X;
X =

Int32.Parse(Console.ReadLine());
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string str;

Console.ReadLine();
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using System;

namespace ConsoleAppl

{
class Program
{
static void Main(string[] args)
{
}
}
}
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Console.Read(); laso aie S
Console.ReadLine(); A, B,C,.... Olgzw Jlade So
Console.ReadKey();
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string str=Console.ReadlLine();
int num =Console.Read();

ConsoleKeyInfo myKey = Console.ReadKey();
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Console.Write(num + "ABC");
A’ IIABCII OS Vh
Console.WriteLine("A\"BC");
\/—
Escape sequence Description
\n Newline. Position the screen cursor to the beginning of the next line.
\t Horizontal tab. Move the screen cursor to the next tab stop.
Carriage return. Position the screen cursor to the beginning of the current line;
\r do not advance to the next line. Any characters output after the carriage return
overwrite the previous characters output on that line.
\\ Backslash. Used to print a backslash character.
\" Double quote. Used to print a double quote (") character.




A =B
C=0D
E = A
G=0D
delta

BA2-4%*A*C;
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if (TestExpression)

{
}

Body of if statement;

statement just below if

Test expression is true
int test = 5;

if (test < 10)
{

// codes

}

// codes after if

A

Test
expression

True

Body of if

<

A

Statement just
below if

l

Figure: Flowchart of if Statement

P Ol 5w (2
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Test expression is false
int test = 5;

if (test > 10)
{

// codes

}

» // codes after if




if (TestExpression)

{
Body of if statement;

}
else
{
Body of else
}

statement just below if

Yy

S A 50 98 (b i 5w D

Test
expression

False

Y

Body of if Body of else

Statement just
below if..else

l

Figure: Flowchart of if...else Statement
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Test expression is true
int test = 5;

if (test < 10)
~{

// codes

}

else

{

// codes

}

// codes after if...else

S! > 0 98 b i 35 (D

Test expression is false

int test = 5;

if (test > 10)
{

// codes

}

else

{
}

»// codes after if

// codes

... 2lse
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if (testExpressionl)

True—»

TE_1is true —

statements to be executed

if testExpressionl 1s true
} False

TE_1is false and TE_2 is
true

else if (testExpression?)
statements to be executed if testExpressionl is false True=
and testExpressionZ 15 true

} False

TE_1 and TE_2 false
and TE3 is true

else if (testExpression 3)
statements to be executed i1f testExpressionl True—>
and testExpressionZ is false and testExpression3 is true

}

False

v

Al TE is False
else
statements to be executed if all %%
test expressions are false
} Other Code
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int a, b, ¢, result;

Console.Write("Enter Num1:"); (OS 9 =
a = Convert.ToInt32(Console.ReadLine()); oS sy ResultyC 9B g A-)
Console.Write("Enter Num2:"); oS <ol 6399 511 CoBsA-Y

b = Convert.Tolnt32(Console.ReadLine()); Result € A+B -V

Console.Write("Enter Num3:™);

oS o= Result /C -r
¢ = Convert.ToInt32(Console.ReadLine()); .

obL -0

result = (a + b);

v

result = (a + b)/c;

result = result / c;

Console.Write(""Result is:");
Console.WriteLine(result);

YA Console.ReadKey();
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int a, b, ¢, result;
Console.Write("Enter Numl:");

a = Convert.ToInt32(Console.ReadlLine());
Console.Write("Enter Num2:");

b = Convert.ToInt32(Console.ReadLine());

Console.Write("Enter Num3:");

¢ = Convert.ToInt32(Console.ReadLine());

result = (a + b)/c;

Console.Write("Result is:"+ result.ToString());

Console.ReadKey();

Y7

int a, b, c;

Console.Write("Enter Numl:");

a = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter Num2:");

b = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter Num3:");

c = Convert.ToInt32(Console.ReadlLine());
Console.Write("Result is:"+ (a + b)/c);

Console.ReadKey();




Area = m X R? = 3.14 x R?
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Circumference = 2R = 2 X 3.14 X R

Double R , Area, Circ;

Console.Write("Enter a Radius:");
R = Convert.ToInt32(Console.ReadlLine());

Area = Math.PI * Math.Pow(R,2);

Circ 2 * Math.PI * R;

Console.WriteLine("Area is:"+ Area);

Console.WritelLine("Circumference is:'

Console.ReadKey();

Yy

+ Circ);
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OS Eapb e

oS i |, Circ g Area gR -
oS <dbys 3909 IR -Y
Area<3.14*R"N2 -V
Circ=2*3.14*R -r

oS oz 1, Circ g Area-o
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int N;
Console.Write("Enter a number:");
N = Convert.Tolnt32(Console.ReadLine());
if(N==0)
Console.WriteLine(N + " is Zero");
if (N> 0)
Console.WriteLine(N + " is Positive");
if (N<0)
Console.WriteLine(N + " is Negative");

Console.ReadKey();
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int N;
Console.Write("Enter a number:");
N = Convert.ToInt32(Console.ReadLine());
if (N>0)

Console.WriteLine(N + " is Positive");
else

if (N<O0)

Console.WriteLine(N + " is Negative™);
else

Console.WriteLine(N + " is Zero");
Console.ReadKey();
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int N;
Console.Write("Enter a number:");
N = Convert. Tolnt32(Console.ReadLine());
If (N%2==0)

Console.WriteLine(N+" is Even™);
else

Console.WriteLine(N+ " is Odd");
Console.ReadKey();
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int N;

Console.Write("Enter a number:");

N = Convert.ToInt32(Console.ReadLine());

if (N==0)
Console.WriteLine("Saturday");

else if (N ==1)
Console.WriteLine("Sunday");

else if (N == 2)
Console.WriteLine("Monday");

else if (N == 3)

Console.WriteLine(""Tuesday");

ry

b Jts s @

else if (N == 4)
Console.WritelLine("Wednesday");
else if (N == 5)
Console.WriteLine("Thursday");
else if (N == 6)
Console.WritelLine("Friday");
else

Console.WritelLine("Please enter
a number between © and 6.");

Console.ReadKey();
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a<b+c
b<a+c
c<a+b

(a<b+c

E
J= oy ||» If{ b < a+ c thenyou can create a triangl

3
c<a+b

Otherwise the triangle cannot be created




int a, b, c;
Console.WriteLine("Triangle making program");
Console.Write("Enter A:");
a = Int32.Parse(Console.ReadLine());
Console.Write("Enter B:");
b = Int32.Parse(Console.ReadlLine());
Console.Write("Enter C:");
c = Int32.Parse(Console.ReadlLine());
if (a <=Db + ¢)
if (b <= a + <)
if (c <= a + b)
Console.WriteLine("A triangle can be created");
else
Console.WriteLine("A triangle can't be created");
else
Console.WriteLine("A triangle can't be created");
else

Console.WriteLine("A triangle can't be created");

Console.ReadKey();
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int a, b, c;

Console.WriteLine("Triangle making program");

Console.Write("Enter A:");

a = Int32.Parse(Console.ReadLine());

Console.Write("Enter B:");

b = Int32.Parse(Console.ReadLine());

Console.Write("Enter C:");

c = Int32.Parse(Console.ReadLine());

if(a<=b+c && b<=a+c && c<=a+b)
Console.WriteLine("A triangle can be created");

else

Console.WriteLine("A triangle can't be created");

Console.ReadKey();
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a’ = b% + ¢*
b? = a® + c?
c? = a? + b?

(a2 = b2 + (2
L
J= ol ||» If < b2 = a2 + c? then you can create a right triangl ||» OR
L
\c? = a® + b*

Otherwise the right triangle cannot be created
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int a, b, c;
Console.WriteLine("Right Triangle detector program");
Console.Write("Enter A:");
a = Int32.Parse(Console.ReadLine());
Console.Write("Enter B:");
b = Int32.Parse(Console.ReadLine());
Console.Write("Enter C:");
c = Int32.Parse(Console.ReadLine());
if (Math.Pow(a, 2) == Math.Pow(b, 2) + Math.Pow(c, 2))
{

Console.WriteLine("A right triangle can be created");

}
else
{
if (Math.Pow(b, 2) == Math.Pow(a, 2) + Math.Pow(c, 2))
{
Console.WriteLine("A right triangle can be created");
}
else
{
if (Math.Pow(c, 2) == Math.Pow(a, 2) + Math.Pow(b, 2))
{
Console.WriteLine("A right triangle can be created");
}
else
{
Console.WriteLine("A triangle can't be created");
}
}
}

'”J\ Console.ReadKey();
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int a, b, c;

Console.WriteLine("Right Triangle detector program");
Console.Write("Enter A:");

a = Int32.Parse(Console.ReadlLine());
Console.Write("Enter B:");

b = Int32.Parse(Console.ReadlLine());
Console.Write("Enter C:");

c = Int32.Parse(Console.ReadlLine());

if (
(Math.Pow(a, 2) == Math.Pow(b, 2) + Math.Pow(c, 2)) ||
(Math.Pow(b, 2) == Math.Pow(a, 2) + Math.Pow(c, 2)) ||
(Math.Pow(c, 2) == Math.Pow(a, 2) + Math.Pow(b, 2))
)

Console.WriteLine("A right triangle can be created");
else

Console.WriteLine("A triangle can't be created");
Console.ReadKey();
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D=b?>—4xax*c

. ~b +VD
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A

Double a, b, ¢, D, x1, x2;
Console.Write("Enter a:");
a = double.Parse(Console.ReadLine());
Console.Write("Enter b:");
b = double.Parse(Console.ReadLine());
Console.Write("Enter c:");
c = double.Parse(Console.ReadLine());

D = Math.Pow(b, 2) - (4 * a * c);
if(D>0)

{
x1 = (-b + Math.Sqrt(D)) / (2 * a);
x2 = (-b - Math.Sqrt(D)) / (2 * a);
Console.WriteLine("X1="+ x1);
Console.WriteLine("X2=" + x2);

}

else if(D==0)

{
x1 = (-b) / (2 * a);
X2 = x1;
Console.WriteLine("X1=" + x1);
Console.WriteLine("X2=" + x2);

}

else

{
Console.WritelLine("The equation has no

}

Console.ReadKey();

root!");
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